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QUESTION 1

The LMorgan user object resides in the LG DA container in an eDirectory tree named .DA-TREE . The MWaters and the
MFinn users also reside in the LGA container. LMorgan is a member of the Sales.LGA. DA group object. The DA2
server also resides in the LGA. DA container. The LMorgan user is security equivalent to which objects in the tree?
(Choose 2.)

A. The Sales group.

B. The MWaters user.

C. The LGA container.

D. The MFinn user.

E. The DA2 server object.

Correct Answer: AC

QUESTION 2

Which of the following must be taken into account when calculating a user\\'s effective rights to other objects in the tree?
(Choose 2.)

A. Rights assigned to Public.

B. Groups the user is a member of.

C. Objects that are trustees of the user object.

D. Rights assigned to the server the user logs into.

E. Rights assigned to other objects in the user\\'s container.

Correct Answer: AB

QUESTION 3

Click the Exhibit button to begin.
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Manager! %2

ManagerZ E-}j

You are configuring an iPrint system for your company. Your Vice President\\'s office is on the same floor as the offices
of several design engineers. The Vice President has her own private printer for printing confidential documents. The
design engineers have a high-end color laser printer that they share. You\\'ve decided to use your DAL server to provide
iPrint services. To keep confidential print jobs separate from regular print jobs, you decide to create two iPrint Manager
objects in the eDirectory tree and load two instances of the iPrint Manager on DAL to support each Manager object. Will
this configuration work?

A. Yes, all iPrint requirements have been met.

B. No, iPrint doesn\\'t support color laser printers in the current release.

C. No, you can\\'t load two instances of the iPrint Manager software on the same server.

D. No, the iPrint Manager software shouldn\\'t be loaded on server that is also providing file storage services.

E. No, the iPrint Manager software is only needed if the printers are connected directly to server LPT ports using a
parallel cable.

Correct Answer: C

QUESTION 4

You need to access your OES NetWare server\\'s console. However, you\\'re currently in a different building. You decide
to use Remote Manager to access the server from a Windows XP workstation. Your server\\'s DNS name is
da5.da.com. What URL can you use to access Remote Manager? (Choose 2.)

A. http://da5.da.com:81

B. http://da5.da.com:8008

C. https://da5.da.com:444

D. https://da5.da.com:8009

E. http://da5.da.com/nps/RemoteManager.html

F. https://da5.da.com:443/nps/RemoteManager.html

Correct Answer: BD
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QUESTION 5

You\\'re designing a network file system for your company. You want to create three NSS volumes: SYS for operating
system files and utilities, DATA for storage of user files, and WEB for storing web server content. Your server has one
IDE 200 GB hard disk drive. Will this design work?

A. Yes, all NSS requirements have been met.

B. No, NSS doesn\\'t support IDE hard disk drives.

C. No, the SYS volume must be a Traditional volume.

D. No, web server content must reside on the SYS volume.

E. No, NSS doesn\\'t support hard drives with more than 1024 cylinders.

F. No, NSS can\\'t support multiple volumes on the same physical drive.

Correct Answer: A
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